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2 | Blo] ox} HF-5=(dS/m)
= LeolEAIRY | FUY | AFAH | AFdS | THA(A-B)
)2 (kg/10a) | A) | B) | (%L2)
ohH| = 4 | 229,830 2.3
=215 A 142 | R500p B8 | 65 | 5e
b}
= /94 131 | 46 | 85
odxf 2 33)/¢d >10 : P (64.6%)
1.1
SR 23]/ 3001 29 1 18 | (3799)
-0.4
1 E ?j)tH% 2§I/O|_:l_ 450 32 36 (125%%)
1.9
olxf 2 28]/ 510 | 35 | 16 | (5,50
41
oIxf 2 23)/93 600 | 96 | 55 | (4
3.0
45
. 2.4
. 43
EalGRh 1o)/8 450195 1 52 | (453%)
. 5.5
(A28 13)/% 450 | 130 | 75 | 2%
. 1.53
Qo] 43)/4 2000 | 673 | 52 | (557
. 1.95
Q0 43)/% 2000 | 1145 | 95 | (1705
. 1.66
. 2.22
20 43)/4 2000 | 2146 | 1924 | 5560
. 1.36
Q0 43]/% 2000 | 572 | 436 | (5330
okA
° Qo] 43)/% 2,000 | 2629|2382 | (§'pp)
. 2.16
Q0 43)/% 2000 | 979 | 7.63 | (5515
2
Qo] aslig | 2000 | 182 | 1592 | (5
42
oo asig | 2000 | 725 | 583 | (5,
. 2.39
Q0 43)/% 2,000 | 2333|2094 | (15500




_ o4 &) Selley Hfo| @ X} HF-55(dS/m)
AERE | EBE | aIOIEI1IE°' SUF [ AA A 2] TAA-B)
(Kg/102) | (A) | () | (hlra)
olosh | A | 1983 | 33)/% 300 | 67 | 50 (251_1%)
wrozl | Ay | 1,983 | 39/ 300 | 87 | 65 (252_-3?%)
olo4 | U | 1,983 | 2~38)4 300 | 51 | 45 (110_-86%)
olo® | A | 4500 | 38/ 1,800 | 51 | 40 (211_-61%)
oloxb | A | 1652 | 382 250 | 38 | 30 (210_{3%)
rg—llf% 2@ 10,000 |  1~23)/2 600 | 64 | 42 (35_-42%)
Zool | Qo] | 4000 | 1~28)/% 400 | 538 | 48 (1%_%%
srod | AR | 3,000 | 1~28)/ 400 | 419 | 2.2 (417-_?)%
god | P2 | 3000 | 1~28/% 400 | 565 | 518 (g.;t()/?o)
AoA | AE | 4000 | 10282 400 | 38 | 26 (311_-62%)
O Abm| Hsy AA
AR A Wg Abge] AYAA )
I sl | Al | mye O
o 200,000 | 48,000 | 112,000| 40,000
L 40,000 | 9,600 | 22,400 | 8,000
blol 24k 10kg 35070 | 6,146 | 1,475 | 3442 | 1,229
230 x| 20kg 2407 | 5520 | 1,325 | 3,091 | 1,104
SeT2Eje)(40~800k21L) | 1o | 19,980 | 4,795 | 11,189 | 3,996
AlH2E2|(33450k28) | 1o | 4950 | 1,188 | 2,772 | 990
BAANEEDE]) | 14 | 3404 | 817 | 1,906 | 681
) 40,000 | 9,600 | 22,400 | 8,000
blo] 9 X} 10kg 1,07474 | 18,688 | 4,485 | 10,465 | 3,738
TApd@e] 9l Baok) | 14 | 21,312 | 5115 | 11,935 | 4,262




A% T g Arle] FRAE )
A& o H| 1
S P | A I PR C A P
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BFo| 9 AF 50L 216270 | 28,102 | 6,745 | 15,737 | 5620
obAd 2gjlo]E 25kg 70 | 2800 | 672 | 1,568 | 560
SESKNEN
— 03x10cmx1.000M = 1007§| 10670 | 9,098 | 2,183 | 5095 | 1,820
~ 03x15amx1.000M = 67
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FoAKaflo|EAIE) 500ml | 25070 | 5,000 | 1,200 | 2,800 | 1,000
oFm bho| 9} 10kg 65074 | 13,000 | 3120 | 7,280 | 2,600
TAA 54 | 18,000 | 4,320 | 10,080 | 3,600
Aeoba)7)@sor2e) | 1) | 4000 | 960 | 2,240 | 800
=) 40,000 | 9,600 | 22,400 | 8,000
EoFHEF kol
o] = B2, ATERD ) A‘jgmuﬂumﬂ 2.4ha | 20,000 | 4,800 | 11,200 | 4,000
212 0] £5(500ml) 9487 | 14200 | 3408 | 7952 | 2,840
Hlo] 9 XH(15kg) 3429 | 5800 | 1392 | 3,248 | 1,160
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gopmwq) | 1 |18 | 5 |25 | - - B8 s 1| - -
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3
obd (9o | 1 | 10| 2 | 20| - 1 (115’(';% 3 52| -] -
_ 5 o
ofm M | 1 | 5 | 8 | 3 - - oo 32| -
59
O:]'%Q_/\I ?ij-%— 2 12 2 4 - - (10(()3%) 5 - - - -




O 22 8l A BA
22 (kg/l0a) A= (42/10a)
Az | 2B s — T ol 1 oe
- ST )| v | A aue wam)| J5I0
S| (B 2) 64 |3927.1|3,4449| 1140 |6,240.7|5556.7| 112.3
§|—/\5' L 5 1,900 1,800 105.6 6,000 | 5,500 109.1
Bel  [ojsEH 10 | 6,400 | 5000 | 1280 | 6953 | 5490 | 1266
%‘E—','] _'.E_D]-_‘.E_ 1 2,885 2,623 110.0 6,329 | 5,829 108.6
3'51'—75— ?jXH%- 28 2,579 2,347 1099 4,130 | 3,925 105.2
obd | Qo] | 10 | 9426 | 8542 | 1103 | 9,144 | 8240 | 111.0
=X |dTo|| 5 2672 | 2,416 | 1106 | 3,584 | 3049 | 1175
0:]—71:— OHili,]‘ 5 1,628 1,386 1175 7,545 | 6,864 1099
0 BAA 2 MW
eI Epmpe At
o= qto] He wjo] oAt ZoUA| [Hlo]oxt B HAlrte] Bk
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O &% Zzf
57| QPRI ol R AA
T2 | I5ZEAERY R oRuS | 2wy | okiHy | 2AE
AR ofR(BAITH (nf) () (%)
O & 268 2,092 Bl L]
O 7|4x)Y: 8543 13,308,837 | 13,036,603
O %H: 44,0437 . .
sh | - °o12: 757 A= A= 98
=
_ sank 216 o 10,112,158 | 10,552,228
- 227: 2307 2h4- 24
~ SMS: 43,5227 3,196,679 | 2,484,375
O 5%k 5 13] 163 L L
O THE 38 419,794 690,000
o= Ig|o]
Q0| ;Sfﬂﬂ s LXEB LXEB
g2Ql 1O dE=E 123 o] coE ooE 164
7 362,812 617,000
O oo 1o 4 4
O #H2mBF 107 A T T
O =RE A= 56,982 73,000
O IS 83| 540 ) )
SRR 543 380,250 909,980
d 8 i;_; I‘gxfi& 04 N N 239
o= o i) i)
9,555H 380,250 909,980
L L
O | otk 2o 7i5’72.3 450,020
g4 |0 THERE g o] A= A= 63
° A e 2304 300,000 50,000
eTETT T h4 h4
415,793 400,000
L L
O 1% 63 2509
N of 1,(100,(‘)300 581’12.7 0
O SMS 2,000 SAE SAE
SaRe 1,000,000 | 501,187
Ll Ll
= K)o 1
O e o B 1,000,000 | 980,000
Lﬂ‘ﬁlhlgl 5,JO:I QN =] QN =]
o SAE TNE
el | O oiRgE 13U o} o %8
pore 750,000 730,000
O SNS7 %l;?_ - O _’l‘/\ _’l‘/\
= 30007 T T
3 250,000 250,000
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O dETE 13 L L
o T o T
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